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AEDZ2 90,000 90,000 0
501 8At3 90,000 90,000 0
01 2Itg8X3 90,000 90,000 90,000 0
ou2sias Isto 90,000,000& = 90,000
HEeEs(Fo=X1H) 3,315,068 3,156,623 158,445
BEXNE(HEIZ2) 3,315,068 3,156,623 158,445
SEXE(XEIZ) 3,315,068 3,156,623 158,445
602 Ol Xl = 3,315,068 3,156,623 158,445
01 OIXIZ 3,315,068 3,315,068 3,156,623 158,445
Ou X2 3,315,068,000& = 3,315,068
Xl £ g A 3,405,068 3,246,623 158,445




w
e
H
g
A
oy
>
0x

o
b}
02
1l
Otoe

SIAHE 20194
Ol & Xp= 0 2 0fl &
IAFE - IS

= o o T oo o
cu sy
Aar- e A @ Moz | Bx2 | a2 X338+ a2 Ol Xt JIEt A ® HEXE | SAE |ozeay |29 | W= JIE} (@-0)
=== | == SS9 | (oxzs) = A0l A O] AFSIHL | AFSIH| |2 2= | 224 cdS8E | XIS
2013 X | 6,276,528 | 490,000 | 590,000 0 3,051,488 0| 1,187,605| 957,435| 3,338,499 0 3,338,499 0 0 0 0| 2,938,029
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20158 & 359,209 0 0 0| 169,944 0 84,243 | 105,022 84,693 0 84,693 0 0 0 0 274,516
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